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1. (a)

(b)

(€)

3. (a)

(b)

CHAPTER 2

UNDERSTANDING THE ISSUES

Johnson has a passive level of owner-
ship and in future periods will record
dividend income of only 10% of Bick-
ler's declared dividends. Johnson will
also have to adjust the investment to
market value at the end of each period.
Johnson has an influential level of
ownership and in future periods will
record investment income of 30% of
Bickler’'s net income. Any dividends de-
clared by Bickler will reduce the in-
vestment account, but will not affect the
investment income amount.

Johnson has a controlling level of own-
ership and in future periods will add
100% of Bickler's net income to its own
net income. Bickler's nominal account
balances will be added to Johnson’s
nominal accounts. Any dividends de-
clared by Bickler will not affect John-
son’s income.

(d) Johnson has a controlling level of own-
ership and in future periods will add
100% of Bickler's net income to its own
net income. All (100%) of Bickler's
nominal account balances will be add-
ed to Johnson’s nominal account bal-
ances. This will result in consolidated
net income, followed by a distribution to
the noncontrolling interest equal to 20%
of Bickler's income. Any dividends de-
clared by Bickler will not affect John-
son’s income.

2. The elimination process serves to make the
consolidated financial statements appear
as though the parent had purchased the
net assets of the subsidiary. The invest-
ment account and the subsidiary equity ac-
counts are eliminated and replaced by the
subsidiary’s net assets.

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........cccccoeevviciiieenenennnns $900,000 $900,000 N/A
Fair value of net assets excluding goodwill. 600,000 600,000
GoodWill......coeeiiiiieeccee e $300,000 $300,000
Net Assets—marked up $200,000 ($600,000 fair value — $400,000 book value)
Goodwill—$300,000 ($900,000 — $600,000)
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value.........ccccccceeviieiieenene $900,000 $720,000 $180,000
Fair value of net assets excluding goodwiill. 600,000 480,000 120,000
GoOodWill.....ooeeeiiiiiec i, $300,000 $240,000 $ 60,000

Net Assets—marked up $200,000 ($600,000 fair value — $400,000 book value)
Goodwill—$300,000 ($900,000 — $600,000)

The NCI would be valued at $180,000 (20% of the implied company value) to allow the full

recognition of fair values.
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4. (a) Company Parent NCI

Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value............ccoceeeeveeineeenennne, $1,000,000 $1,000,000 N/A
Fair value of net assets excluding goodwiill. 850,000 850,000
GOoOAWIll....eeveeieeciie e $ 150,000 $ 150,000

The determination and distribution of excess schedule would make the following adjustments:
$1,000,000 price — $350,000 net book value = $650,000 excess to be allocated as follows:

CUIENt ASSELS ...ecvveeveeeieee et e e $ 50,000
Fixed assets .......cccceeeveieii 450,000
Goodwill.......... 150,000
$650,000
(b) Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value..........ccccovvieenniinennee, $ 500,000 $ 500,000 N/A
Fair value of net assets excluding goodwill. 850,000 850,000
Gain on acquisition ..........cccccveeviiiciiiiineeeeenne $ (350,000) $ (350,000)

The determination and distribution of excess schedule would make the following adjustments:
$500,000 price — $350,000 net book value = $150,000 excess to be allocated as follows:

CUITENE ASSEES ...vvvviiiieeeeiieiireee e e r e e e $ 50,000
Fixed assets.......cccccoeiiiiii 450,000
Gain on acquIsItion ..........ccevvvvvviieeveeeieeeeeeeeeeeee, (350,000)
$ 150,000
5. (a) Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value............cccceceevveeiveeennennne, $1,000,000* $800,000 $200,000
Fair value of net assets excluding goodwill. 850,000 680,000 170,000
GOoOAWIll.....vevieiiiiie e $ 150,000 $120,000 $ 30,000

*$800,000/80% = $1,000,000

The determination and distribution of excess schedule would make the following adjustments:

$800,000 parent’s price — (80% x $350,000 net book value) = $520,000
NCI adjustment, $200,000 — (20% x $350,000 net book value) = 130,000
Total adjustment to be allocated ................. = $650,000 as follows:
CUITENE @SSELS ..vvvieivivieeeiiiie e $ 50,000
Fixed aSSets ....ccocovveiiiiiieiiiieeeeeeeeee e 450,000
Goodwill.......ooooo 150,000

$650,000
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(b)

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value............ccoceeeeveeineeenennne, $770,000%* $600,000 $170,000*
Fair value of net assets excluding goodwiill. 850,000 680,000 170,000
Gain on acquisition ........ccccceveeeiiiciiiieeeeeeee $(80,000) $(80,000) N/A

*Cannot be less than the NCI share of the fair value of net assets excluding goodwill.
**$600,000 parent price + $170,000 minimum allowable for NCI = $770,000.

$600,000 parent’s price — (80% x $350,000 book value) = $320,000
NCI adjustment, $170,000 — (20% x $350,000 net book value) = 100,000
Total adjustment to be allocated ................. = $420,000 as follows:
CUITENL @SSELS ..vvieieveeiiieccire e $ 50,000
Fixed assetS .......ccccveeeiieiiiiiiiieeee e 450,000
Gain on acquiSItioN ...........cccveeviiieeennieeeenne (80,000)
$420,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value...........cccceeevcviveeciiieeenee, $1,000,000* $800,000 $200,000
Fair value of net assets excluding goodwiill. 800,000 680,000 120,000
GoodWiIll......oeeeiiiiieeice e $ 200,000 $120,000 $ 80,000

*$800,000/80% = $1,000,000

The NCI will be valued at $200,000, which is 20% of the implied company value. The NCI ac-
count will be displayed on the consolidated balance sheet as a subdivision of equity. It is shown
as a total, not broken down into par, paid-in capital in excess of par, and retained earnings.
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Ch. 2—Exercises

EXERCISES

EXERCISE 2-1

Solara Corporation
Pro Forma Income Statement
Ownership Levels

10% 20% 70%
SAlBS . $640,000 $640,000 $1,010,000
Cost 0f go0ods SOId .......ccooeeiiieeeeee e 300,000 300,000 530,000
GrOSS Profit ...c.ccccvveeeeieiiee e $340,000 $340,000 $ 480,000
Selling and administrative expenses ....................... 120,000 120,000 195,000
Operating iINCOME.........cuuvveieeeeeeeeiiiee e $220,000 $220,000 $ 285,000
Dividend income (10% x $15,000 dividends) .......... 1,500
Investment income (20% x $65,000 reported
INCOIME) .ottt 13,000
NEE INCOME. ... e $221.,500 $233,000 $ 285,000
Noncontrolling interest (30% x $65,000 reported
INCOIME) .ottt 19,500
Controlling INtErest ........ccooeeeeeeeeeeeeeeeeeeeee e $ 265,500
EXERCISE 2-2
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fairvalue..........cccccceeeiii e $530,000 $530,000 N/A
Fair value of net assets excluding goodwill
($280,000 book value + $20,000) .................... 300,000 300,000
GOOAWIll ... $230,000 $230,000
1. (@) CasSh.iiiiiiiiii 20,000*
Accounts RecCeiVabIe .......coooveeeee e, 70,000
[NV o1 o Y 100,000
Property, Plant, and Equipment ($270,000 + $20,000) .... 290,000
GOoOdWIll ..o 230,000
Current Liabilities ......veeieeeee e 80,000
Bonds Payable...........cccooovviiiiii e, 100,000
Cash ..o 530,000*

*Cash may be shown as a net credit of $510,000.
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Exercise 2-2, Concluded

(b) Glass Company
Balance Sheet
Assets

Current assets:

Cash .o $ 30,000

Accounts receivable.......ccovvieii i 120,000

INVENTONY ...vvveeeeeetee et 150,000 $ 300,000
Property, plant, and equipment (net) .................... 520,000
GOOdWIll ..o 230,000
TOtAl ASSELS....vvvvvvviiiiiiiiiiiiiiiiiiiviieeeieeiieeeeereeeeeeeaee $1,050,000

Liabilities and Stockholders’ Equity

Liabilities:

Current Habilities ......cooeveee e $220,000

Bonds payable ... 350,000 $ 570,000
Stockholders’ equity:

Common stock ($100 par) .....cccceeeeevivviveeennnnn. $200,000

Retained earnings.........ccccoeeeeeeeeeeee e 280,000 480,000
Total liabilities and stockholders’ equity ................ $1,050,000

2. (a) Investmentin PlastiC...........cccoeeeeeeiiiiiiiiieeeeee, 530,000
Cash ..o 530,000

(b) Investment in Plastic appears as a long-term investment on Glass’s unconsolid
balance sheet.

ated

(c) The balance sheet would be identical to that which resulted from the asset acquisition

of part (1).
EXERCISE 2-3
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value ... To be determined N/A
Fair value of net assets excluding goodwill ............. $560,000* $560,000

Goodwill
Gain on acquisition

*$370,000 net asset book value + $40,000 inventory increase + $50,000 land increase +
$100,000 building increase = $560,000 fair value

(1) Goodwill will be recorded if the price is above $560,000.
(2) A gain will be recorded if the price is below $560,000.
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EXERCISE 2-4

(1) Investment in Pail INC. .........ouviiiiiiiiiiiiiiiiiiiiiiiiiee 950,000
Cash.. 950,000
ACQUISItiON COSES EXPENSE....ccvvveiiiiieeeiieeiiiiee e 10,000
(0= 1] o TR 10,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value........cccccccvvvvveiiiiiiiiiiiiennn, $950,000 $950,000 N/A
Fair value of net assets excluding goodwill ...... 850,000* 850,000
L€ ToTo 0 1111 P $100,000 $100,000

*$700,000 net book value + $50,000 inventory increase + $100,000 depreciable fixed

assets increase = $850,000 fair value

Determination and Distribution of Excess Schedule

Company Parent
Implied Price
Fair Value (100%)
Fair value of subsidiary............. $950,000 $950,000
Less book value of interest acquired:
Common stock, ($10 par) ...... $300,000
Paid-in capital in excess of par 380,000
Retained earnings ................. 20,000
Total stockholders’ equity .. $700,000 $700,000
Interest acquired.................... 100%
Book value.........cccoeeeevviineennnn. $700,000
Excess of fair value over book
value........ocoeeeeiiiii $250,000 $250,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($250,000 fair —
$200,000 book value) ............ $ 50,000 debit D1
Depreciable fixed assets
($700,000 fair — $600,000
book value).........ccccccceeiiii 100,000 debit D2
GoodWill......cooeveiiiieeiiiiieeeeeiaen, 100,000 debit D3
Total....oovoieeiiiiieeeeeeeee, $250,000
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Exercise 2-4 Concluded

(3) Elimination entries:

(1)

Ch. 2—Exercises

Common Stock ($10 par)—Pail ..o 300,000
Paid-In Capital in Excess of Par—Pail ............ccccccceeeiiiieeninn, 380,000
Retained Earnings—Pail.............cccoovviiiiiii i, 20,000
Investment in Pail INC. ......oouvivniiiii e 700,000
L NY7=T 0] (] Y 50,000
Depreciable Fixed ASSELS .....ciiiieiiiiiiiiiie e 100,000
(€7 07010 111/ 1| T 100,000
Investment in Pail INC. .....oooviiveiiiii e 250,000
EXERCISE 2-5
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value............cccccvveeeeeeeeeeeceie, $ 700,000 $ 700,000 N/A
Fair value of net assets excluding goodwill ...... 885,000 885,000
Goodwill
Gain on acquisition ........cccooeeeeiiieiiiiiine e, $(185,000)  $(185,000)
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Price paid for investment .......... $700,000 $700,000 N/A
Less book value of interest acquired:
Common stock ($5 par) ......... $200,000
Paid-in capital in excess of par 300,000
Retained earnings ................. 175,000
Total equity............cceuvneeee. $675,000 $675,000
Interest acquired.................... 100%
Book value......ccccceeevveeeiieennn, $675,000
Excess of fair value over book
ValUC....oeiiee e $ 25,000 $ 25,000
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Exercise 2-5 Concluded

Adjustment of identifiable accounts:
Worksheet
Adjustment Key

Inventory ($215,000 fair —

$200,000 book value) ............ $ 15,000 debit D1
Property, plant and equipment

($700,000 fair — $500,000

book value).........cccccevveeeen. 200,000 debit D2
Computer software ($130,000
fair — $125,000 book value) ... 5,000 debit D3

Premium on bonds payable
($200,000 fair — $210,000

book value).........cccccvvneenl. (10,000) credit D4
Gain on acquisition ................... (185,000) credit D5
LI ¢= | $ 25,000
Elimination entries:
Common Stock ($5 par)—Genall...........cccvvveeiiiiiiiiiiiiiieeeeen, 200,000
Paid-In Capital in Excess of Par—Genall................cccoeeeeeen. 300,000
Retained Earnings—Genall.............ccccoviieiiiieiiiieiiiiiie e, 175,000
Investment in Genall Company.........cccccceeeeieeeeiiieeiiieee e, 675,000
INVENTOTY .. et 15,000
Property, Plant, and Equipment ..........cccooeveieiiiiiiiiiiee e, 200,000
Computer SOftWArE .........ceiiieeiiiieecer e 5,000
Gain onN ACQUISITION........uveiei e e e e e e eeeees 185,000
Premium on Bonds Payable ............ccccvveiiiiiieiie e, 10,000
Investment in Genall Company..........ccccceeeevieeeiiieiiiiieee e, 25,000
EXERCISE 2-6
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value...........ocovviiieeiieiini, $900,000* $720,000 $180,000**
Fair value of net assets excluding goodwill ...... 820,000 656,000 164,000
(€0 To 0 11/ P $ 80,000 $ 64,000 $ 16,000

*$720,000/80% = $900,000
**$900,000 x 20% = $180,000
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Exercise 2-6 Concluded

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (809%0) (20%)
Fair value of subsidiary............. $900,000 $720,000 $180,000
Less book value of interest acquired:
Common stock ($5 par) ......... $100,000
Paid-in capital in excess of par 150,000
Retained earnings ................. 250,000
Total equity.......ccceeeeeunee... $500,000 $500,000 $500,000
Interest acquired.................... 80% 20%
Book value.........ccccoeeeeeeeeeeeeenn. $400,000 $100,000
Excess of fair value over book
Value....ooooeeeieiieeeeeeeeeeeeeeeee, $400,000 $320,000 $ 80,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($300,000 fair —
$200,000 book value) ............ $100,000 debit D1
Land ($200,000 fair —
$100,000 book value) ............ 100,000 debit D2
Building ($600,000 fair —
$450,000 book value) ............ 150,000 debit D3
Equipment ($200,000 fair —
$230,000 book value) ............ (30,000) credit D4
(€ToTo 0 11| B 80,000 debit D5
LI ] 7 | $400,000
(2) Elimination entries:
Common Stock ($5 par)—Cobalt (80%0)........ccceeeeeeiiiirrrrirrannnn. 80,000
Paid-In Capital in Excess of Par—Cobalt (80%)...................... 120,000
Retained Earnings—Cobalt (80%) .........cccoeeeeeiiiiiiiiiiiiieeeeeeeenns 200,000
Investment in Cobalt Company..........cccccceeeieeeeiiiiiiiieee e, 400,000
INVENTONY ... e et e e e e e e e 100,000
1= Vo N 100,000
BUIIAING ... e 150,000
GOOAWIIL...ceeeeee e 80,000
EQUIPMENT ...t 30,000
Investment in Cobalt Company (excess remaining)............ 320,000
Noncontrolling Interest (to adjust to fair value).................... 80,000
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(1)

42

EXERCISE 2-7
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (809%0) (20%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $646,000 $512,000 $134,000*
Fair value of net assets excluding goodwill ...... 670,000 536,000 134,000
Gain on acquisition .........cccooeeevvieeiiiiiinee e, $(24,000) $(24,000) N/A
*must at least equal fair value of assets
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Price paid for investment .......... $646,000 $512,000 $134,000
Less book value of interest acquired:
Common stock ($5 par) ......... $ 50,000
Paid-in capital in excess of par 130,000
Retained earnings ................. 370,000
Total equity.......ccvvvvvvvvnnnnns $550,000 $550,000 $550,000
Interest acquired.................... 80% 20%
Book value..........ccceeevivieeeennn, $440,000 $110,000
Excess of fair value over book
value.........ccoeeeeviiee $96,000 $ 72,000 $ 24,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($400,000 fair —
$280,000 book value) ............ $120,000 debit D1
Property, plant and equipment
($500,000 fair — $400,000
book value).........cccccvvneenl. 100,000 debit D2
Goodwill ($0 fair — $100,000
book value).........cccccuvvveeeee.n. $(100,000) credit D3
Gain on acquisition ................... (24,000) credit D4
LI €= L $ 96,000



Exercise 2-7 Concluded

(2) Elimination entries:

(1)

Ch

. 2—Exercises

Common Stock ($5 par) (8090) ....ceeeeeeriiiiriiiiiiiee e 40,000
Paid-In Capital in Excess of Par (80%) ............ccevvveeiiieeenrennns 104,000
Retained Earnings (809%0) .......ccccceevviveiiiiiiiieeeeeeeeeiiiie e e eeeeeeenns 296,000
Investment in Sundown Company ............ccccceeveeeemmemnnnnnnnnns 440,000
L NY7=T 0] (] Y 120,000
Property, Plant, and EqQUIpMENt ...........cceeeiiieiiiiiiiiiie e, 100,000
(0 To Lo |11V ]| 100,000
Gain on Acquisition (Venus retained earnings) ................... 24,000
Investment in Sundown Company (excess remaining) ....... 72,000
Noncontrolling Interest (to adjust to fair value).................... 24,000
EXERCISE 2-8
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value.........ccccccvvvvvviiiiiiiiiiiinnee, $450,000 $360,000* $90,000
Fair value of net assets excluding goodwill ...... 390,000 312,000 78,000
GOoOAWIll....uiieeiiie i $ 60,000 $ 48,000 $12.000

*1,000 prior shares included at $45 ($315,000/7,000 shares) per share, the market value

on 1/1/X6.

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary ............. $450,000 $360,000 $ 90,000
Less book value of interest acquired:
Common stock ($10 par) ....... $100,000
Retained earnings ................. 240,000
Total equity...........ccccuvneeee. $340,000 $340,000 $340,000
Interest acquired.................... 80% 20%
Book value...........ccooeeevvvvnennnnnn. $272,000 $ 68,000
Excess of fair value over book
Value......ooooeiiiiiieeee e $110,000 $ 88,000 $ 22,000
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Exercise 2-8 Concluded

Adjustment of identifiable accounts:

Worksheet
Adjustment Key
Equipment ($150,000 fair —
$100,000 book value) ............ $ 50,000 debit D1
GoodWill.......covviiiiiiiiiiiieii 60,000 debit D2

0] 7= I $110,000

Investment iN DOYIE .......coovviiiiiieeeeeeeee e 315,000
(O 1] o T 315,000
Investment in Doyle (1,000 X $45) ........ooveiieiiiiiiiiiiiieieeeeeeee 45,000
Available-for-Sale Investment........ccoovvveeiiiiiii e 40,000
Unrealized Gain on INVESIMENt ..........oeevvviiiiiiiiiiiiiieeeiis 5,000
Note: Applicable allowance for market value adjustment would also be reversed.
EXERCISE 2-9
Investment in Craig CompPany ........ccooeeeeeeeeeeeeeeeeeeeee e 950,000
CaAS N e 950,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value.........ccccccevvvviiiiiiiiiiiinnnnnn. $950,000 $950,000 N/A
Fair value of net assets excluding goodwill ...... 900,000
GOoOAWIll...ouiieeiiiiee e $ 50,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary............. $950,000 $950,000 N/A
Less book value of interest acquired:
Common stock ($10 par) ....... $300,000
Retained earnings ................. 420,000
Total equity.......ccceeeeeunneen.. $720,000 $720,000
Interest acquired.................... 100%
Book value........ccocovveviiniinn, $720,000
Excess of fair value over book
ValUB....oov i $230,000 $230,000
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Exercise 2-9 Concluded

Adjustment of identifiable accounts:
Worksheet
Adjustment Key

Land ($250,000 fair — $200,000

book value)..........ccccvvvveeennn. $ 50,000 debit D1
Building ($700,000 fair —

$600,000 book value) ............ 100,000 debit D2
Discount on bonds payable

($280,000 fair — $300,000

book value).........ccccvvveeenl 20,000 debit D3
Deferred tax liability ($40,000

fair — $50,000 book value) ..... 10,000 debit D4
Goodwill........eeviiiiiiiiiiiie, 50,000 debit D5

Total ..ooooiiii $230,000

Adjustments on Craig books:

LN
BUIIAING ..o
Discount on Bonds Payable ...,
GOOAWIll...cceviiiiiiiiiiiiiiiieee
Deferred Tax Liability ..........oeeeiiiiiiiiieee e,
Retained Earnings .......cooooeeeeeeieeeeeeeeeeeee e

Paid-In Capital in Excess of Par .........cccccceeeeiiiiiiiiiiieenneen,

Elimination entries:

COMMON SEOCK ..o e e e
Paid-In Capital in Excess of Par..........cccceeeveeiiiiiiiiiiiinii e,
Investment in Craig ComMPanYy ..............eueueeememmmmmmimmenenneninnns
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50,000
100,000
20,000
50,000
10,000
420,000

300,000
650,000

650,000

950,000
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APPENDIX EXERCISE

EXERCISE 2A-1

Public
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (60%)° (40%)°
Company fair value .........cccooceeeeiiiiieeeeiiieee e $5,0002 $3,000 $2,000
Fair value of net assets excluding goodwill ............. 3.000 1,800 1,200
GOOAWIll ... $2,000 $1,200 $ 800

@Values are prior to acquisition (200 shares x $25 market value).

bSubsequent to acquisition, Private Company is the “parent” with 60% ownership; prior to acqui-
sition, Private Company has 0% ownership of Public Company.

Prior to acquisition, this represents 100% ownership of Public Company; subsequent to acqui-
sition, these holders of 100 shares of Public Company become the 40% NCI.

Determination and Distribution of Excess Schedule

Public
Company Parent
Implied Price
Fair Value (60%)
Fair value of subsidiary .................... $5,000 $3,000
Less book value of interest acquired:
Common stock ($1 par).............. $ 200
Paid-in capital in excess of par... 800
Retained earnings...............cc...... 1,000
Total equity.........ccccuvvvveeeeen.. $2,000 $2,000
Interest acquired .............cceeeenn. 60%
Book value.......ccccoeoeeveieiiiiiiieeeeinnnn, $1,200
Excess of fair value over book
172 1[0 [ $3.000 $1.800
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Fixed assets ($3,000 fair —
$2,000 book value)..................... $1,000 debit D1
GoodWill ......covveeiiiiiiiieii e 2,000 debit D2
Total..oooeeevieeeieieeeeeee e, $3.000
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Ch. 2—Problems

PROBLEMS
PROBLEM 2-1
Investment in Duke CompPany ...........cuuueeeieeeeeeeeeiiiiiineeeeeeeeennns 630,000*
Common Stock ($10 PA) .evvvveeeeeeeeeecciiieeee e 180,000
Paid-In Capital in Excess of Par .........cccccceeeiiieiiiiiiiccenneen, 450,000
*18,000 shares x $35
Acquisition Expense (close to retained earnings).................... 25,000
Cash.. 25,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value............cccccuvvveeeeeeeeeeceiine, $630,000 $630,000 N/A
Fair value of net assets excluding goodwill ...... 400,000 400,000
GOOAWIll...covvviiiiiiiiiiiiiiiiii $230,000 $230,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary............. $630,000 $630,000 N/A
Less book value of interest acquired:
Common stock ($10 par) ....... $200,000
Retained earnings ................. 140,000
Total equity.......cccevvvvvvennnns $340,000 $340,000
Interest acquired.................... 100%
Book value.........cccoeeeevevnneennnnn. $340,000
Excess of fair value over book
Value....ooooeeeeeieeeeeeeeeeeeeeeeee, $290,000 $290,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($65,000 fair —
$60,000 book value) .............. $ 5,000 debit D1
Land ($100,000 fair — $40,000
book value)..........ccccvveeen. 60,000 debit D2
Building ($150,000 fair —
$120,000 book value) ............ 30,000 debit D3
Equipment ($75,000 fair —
$110,000 book value) ............ (35,000) credit D4
GoodWill.....coovvvviiiiiiiieiiiiiiieee 230,000 debit D5
LI €= | $290,000
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3)

(1)

Problem 2-1 Concluded

Rose Company and Subsidiary Duke Company
Consolidated Balance Sheet
July 1, 20X6

Assets

Current assets:

OB @SS . ettt $ 95,000*

Inventory (including $5,000 adjustment) ...........ccccceveeeernnnnns 185,000

$ 280,000

Long-lived assets:

Land (including $60,000 INCrease).........ccceeuiivvrvreeeeeeeenannnns $200,000

Building (including $30,000 iNCrease) ...........cccvveveeeeeeennnnne 450,000

Equipment (including $35,000 decrease)...........ccccceeeeennnee 505,000

GOOAWIIl ..t 230,000 1,385,000
LI ] t= L TT Y= $1,665,000

Liabilities and Stockholders’ Equity

CUITent HabilitieS .. ..oevee e $ 240,000
Stockholders’ equity:

COMMON SEOCK ..eveiiieeeeie et et e et e e e e e e e e eeeas $580,000

Paid-in capital in excess of par........cccccccveeeeiieeiiieiiiieeee e, 450,000

Retained €arnings .........c.oouuuiiieiiieeeieeecee e 395,000**
Total stockholders’ equity ..............euueeiiiiiiiiiiiiiiiiiiiies 1,425,000
Total liabilities and stockholders’ equity ...........ccoovviiiiiiieennin. $1,665,000

*$50,000 + $70,000 less $25,000 acquisition costs
**$420,000 less $25,000 acquisition costs
PROBLEM 2-2

Investment in Duke CompPany ...........ccuveeeeeeeeeeieeiiiiiie e eeeeeeennns 490,000*

Common StoCK ($L0 PAN) .evvvereeieeeeeeeiiiiieeee e 140,000

Paid-In Capital in EXcess of Par ...........ccccccvvviiiiiiiiiiiiniiinns 350,000

*14,000 shares x $35
Acquisition Expense (close to retained earnings).................... 25,000

(08 1] o DT 25,000
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Problem 2-2, Continued

Ch. 2—Problems

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (809%0) (20%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $612,500 $490,000 $122,500
Fair value of net assets excluding goodwill ...... 400,000 320,000 80,000
GOOAWIll...eeeieeiiiiiiiiee e $212,500 $170,000 $ 42,500
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary ............. $612,500 $490,000 $122,500
Less book value of interest acquired:
Common stock ($10 par) ....... $200,000
Retained earnings ................. 140,000
Total equity.......ccvvvvvveennnns $340,000 $340,000 $340,000
Interest acquired.................... 80% 20%
Book value.........ccccoeeeeeeeeeeeeennn. $272,000 $ 68,000
Excess of fair value over book
Value......ooooeiiiiiieeee e $272,500 $218,000 $ 54,500
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($65,000 fair —
$60,000 book value) .............. $ 5,000 debit D1
Land ($100,000 fair —
$40,000 book value) .............. 60,000 debit D2
Building ($150,000 fair —
$120,000 book value) ............ 30,000 debit D3
Equipment ($75,000 fair —
$110,000 book value) ............ (35,000) credit D4
Goodwill.......uueeiiiiiiiiiiiie 212,500 debit D5
Total ..o $272,500
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3)

(1)

(2)

Problem 2-2, Concluded

Rose Company and Subsidiary Duke Company

Consolidated Balance Sheet
July 1, 20X6

Assets
Current assets:
OB @SS . ettt $ 95,000*
Inventory (including $5,000 adjustment) ...........ccccceveeeernnnnns 185,000
$ 280,000
Long-lived assets:
Land (including $60,000 INCrease)..........ccceeuvvvvrrreeeeeeeenannnns $200,000
Building (including $30,000 iNCrease) ...........cccvveveeeeeeennnnne 450,000
Equipment (including $35,000 decrease)...........cccccceeeernnnee 505,000
GOOAWIll ..o 212,500 1,367,500
LI ] t= L TT Y= $1,647,500
Liabilities and Stockholders’ Equity
CUITent HabilitieS .. ..oevee e $ 240,000
Stockholders’ equity:
COMMON SEOCK ..eveiiieeeeie et et e et e e e e e e e e eeeas $540,000
Paid-in capital in excess of par........cccccccveeeeiieeiiieiiiieeee e, 350,000
Retained €arnings ........cc.oovuviiieiiieee e 395,000**
Noncontrolling interest (from D&D schedule, fair value)...... 122,500
Total stockholders’ equity .........ccccoeiiiiiiiiiiiii e, 1,407,500
Total liabilities and stockholders’ equity ...........ccoovviiiiiiieennin. $1,647,500
*$50,000 + $70,000 less $25,000 acquisition costs
**$420,000 less $25,000 acquisition costs
PROBLEM 2-3
Investment in Entro Corporation............ccceeeeeeiiiviiiiiiinieeeeeeeeens 400,000
Cash.. 400,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value.........ccccccvvviiiiiiiiiiiniinnnnnn. $400,000 $400,000 N/A
Fair value of net assets excluding goodwill ...... 420,000 420,000
Gain on acquisition (retained earnings)............ $(20,000) $(20,000)
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3)

Problem 2-3, Concluded
Determination and Distribution of Excess Schedule
Company Parent
Implied Price
Fair Value (100%)
Price paid for investment .......... $400,000 $400,000
Less book value of interest acquired:
Common stock ($5 par) ......... $ 50,000
Paid-in capital in excess of par 250,000
Retained earnings ................. 70,000
Total equity.......ccceeeeeunee... $370,000 $370,000
Interest acquired.................... 100%
Book value........cc.cccovenvvneennnnn. $370,000
Excess of fair value over book
Value....ooooeeeieiieeeeeeeeeeeeeeeee, $ 30,000 $ 30,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$80,000 book value) .............. $ 20,000 debit D1
Land ($40,500 fair — $40,000
book value)...........ccevvvviiiinnnne 500 debit D2
Building ($202,500 fair —
$180,000 net book value) ...... 22,500 debit D3
Equipment ($162,000 fair —
$160,000 net book value) ...... 2,000 debit D4
Discount on bonds payable
($95,000 fair — $100,000
book value).........ccccevvveeeen. 5,000 debit D5
Gain on acquisition ................... (20,000) credit D6
LI ] = | $ 30,000
Elimination entries:
CommOonN StOCK—ENTIO ......ccevvviviiiiiiiiiiiiiiieeeeeeeeeeeeeeeeeeeee e
Paid-In Capital in Excess of Par—ENtro............cccoeeeeeeeeeeeeenn.
Retained EarningS—ENtro ...,
Investment in Entro Corporation ...........cccceeeeeeeiiieiiiiieeeeennn,
1 1Y/=T 01 (0] PP
= T T SRS
BUIIAING ... e
EQUIPMENT .. e
Discount on Bonds Payable ...,
Retained Earnings, Carlson (controlling gain).....................
Investment in Entro Corporation ............cccoeveeeeiiieiiiiinnneenn.
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NCI
Value

(0%)
N/A

50,000

250,000

70,000

370,000

20,000
30,000
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(2)

PROBLEM 2-4
Investment in Express Corporation ............cooeeeeeeeeeeeeeeeeeeeeeennn 320,000
CASN s 320,000
Company Parent NCI

Implied Price Value

Value Analysis Schedule Fair Value (80%) (20%)
Company fair value ..........cccceeeeecveeececcirieee e, $405,400**  $320,000 $85,400*
Fair value of net assets excluding goodwill ...... 427,000 341,600 85,400
Gain on acquisition (retained earnings)............ $(21,600) $(21,600) $ 0

*NCI minimum allowed is equal to fair value of net assets

**Parent’'s 80% + NCI’'s minimum

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Price paid for investment .......... $405,400 $320,000 $ 85,400
Less book value of interest acquired:
Common stock ($10 par) ....... $ 50,000
Paid-in capital in excess of par 250,000
Retained earnings ................. 70,000
Total equity.......ccvvvvvveennnns $370,000 $370,000 $370,000
Interest acquired.................... 80% 20%
Book value.........cccceeeviivieeeenen, $296,000 $ 74,000
Excess of fair value over book
ValU....ooviiieiiiiiiiiiiecee e, $ 35,400 $ 24,000 $ 11,400
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$80,000 book value) .............. $ 20,000 debit D1
Land ($50,000 fair — $40,000
book value)..........ccccvvneenl. 10,000 debit D2
Buildings ($200,000 fair —
$180,000 net book value) ...... 20,000 debit D3
Equipment ($162,000 fair —
$160,000 net book value) ...... 2,000 debit D4
Discount on bonds payable
($95,000 fair — $100,000
book value)..........ccccceiiiii 5,000 debit D5
Gain on acquisition ................... (21,600) credit D6
Total....oovoieeiiiiieeeeeeeee, $ 35,400

52



Problem 2-4, Concluded

(3) Elimination entries:

(1)

(2)

Ch. 2—Problems

Common Stock—Express ($50,000 X 80%0).........cccveerrruvreeennns 40,000
Paid-In Capital in Excess of Par—Express ($250,000 x 80%) 200,000
Retained Earnings—Express ($70,000 x 80%0)...........ccccceuuee. 56,000
Investment in Express Corporation.........cccooveeevveeevinnnneeeenn. 296,000
L NY7=T 0] (] Y 20,000
1= Vo 10,000
BUIIAINGS ..o 20,000
EQUIPMENT ... 2,000
Discount on Bonds Payable............ccccccceeiiiiiiiiiiiiiie e, 5,000
Retained Earnings—Penson (controlling gain) ................... 21,600
Investment in Express Corporation....................eeeeeeveenennnnes 24,000
Retained Earnings—Express (NCI equity share)................ 11,400
PROBLEM 2-5
Investment in Robby Corporation.............ccooeeeieeiieeeee, 480,000
Cash... 480,000
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value............cccccuvveeeeeeeeeeeeeine, $480,000 $480,000 N/A
Fair value of net assets excluding goodwill ...... 417,000 417,000
GOOAWIll....oovvviiiiiiiiiiiiiiiie $ 63,000 $ 63,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary ............. $480,000 $480,000 N/A
Less book value of interest acquired:
Common stock ($5 par) ......... $ 50,000
Paid-in capital in excess of par 250,000
Retained earnings ................. 70,000
Total equity.......ccceeeeeunneen.. $370,000 $370,000
Interest acquired.................... 100%
Book value.........ccccooeeeeviienninnnnn. $370,000
Excess of fair value over book
Value...ooooeeeeeeeeeeeeeeeeeeeeeeeeeen $110,000 $110,000
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(3)

(1)

Problem 2-5, Concluded

Adjustment of identifiable accounts:

Worksheet
Adjustment Key
Inventory ($100,000 fair —
$80,000 book value) .............. $ 20,000 debit D1
Land ($55,000 fair — $40,000
book value).........cccccvveeen. 15,000 debit D2
Buildings ($200,000 fair —
$180,000 net book value) ...... 20,000 debit D3
Equipment ($150,000 fair —
$160,000 net book value) ...... (10,000) credit D4
Discount on bonds payable
($98,000 fair — $100,000
book value).........cccccvvneenl. 2,000 debit D5
GoodWill......uovvieiieiiiiieeeeeeen, 63,000 debit D6
10 7= | I, $110,000
Retained Earnings .........ooeuvueiiiiieeeiieeiiiiese e eee e e e e e eeeees 70,000
INVENTOTY ..t 20,000
6= 3 [0 TR 15,000
BUIIINGS ... 20,000
Discount on Bonds Payable..............c.eeiiviiiiiiieiiicii e 2,000
GOOAWIIL.... e e 63,000
EQUIPMENT ... 10,000
Paid-In Capital in Excess of Par*..........ccccoovvveviiiiiiiicinnneenn, 180,000
*$70,000 retained earnings + $110,000 excess of cost
PROBLEM 2-6
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value............ccoccuvveeeeeeeeeeeecine, $475,000 $475,000 N/A
Fair value of net assets excluding goodwill ...... 335,000 335,000
GOOAWIll...evniiieiie e $140,000 $140,000
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Problem 2-6, Continued

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary ............. $475,000 $475,000 N/A
Less book value of interest acquired:
Common stock ($5 par) ......... $ 50,000
Paid-in capital in excess of par 70,000
Retained earnings ................. 130,000
Total equity.......ccceeeeeunee... $250,000 $250,000
Interest acquired.................... 100%
Book value........cc.cccovenvvneennnnn. $250,000
Excess of fair value over book
Value....ooooeeeieiieeeeeeeeeeeeeeeee, $225,000 $225,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($140,000 fair —
$120,000 book value) ............ $ 20,000 debit D1
Land ($45,000 fair — $35,000
book value).........ccccevvveennei. 10,000 debit D2
Building and equipment
($225,000 fair — 180,000
net book value)...................... 45,000 debit D3
Copyright ($25,000 fair —
$10,000 book value) .............. 15,000 debit D4
Premium on bonds payable
($105,000 fair — $100,000
book value)..........ccccvvneenl. (5,000) credit D5
Goodwill ($475,000 —
$335,000) .....vvviiiieeeeeeeiiiiee, 140,000 debit D6
LI = | $225,000

55



Ch. 2—Problems

Problem 2-6, Concluded

(2) Adam Company and Subsidiary Sampson Company
Worksheet for Consolidated Balance Sheet
December 31, 20X1
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Adam Sampson Dr. Cr. Sheet
Cash...cccccieiicie e, 160,000 40,000 s e, 200,000
Accounts Receivable.................. 70,000 30,000 . 100,000
INVENLOTY.....cvvvveeciiee e 130,000 120,000 (D1) 20,000 ... 270,000
Investment in Sampson.............. 475,000 s e, (EL) 250,000 ............
..................................... (D) 225,000
Land .....ccooceeiiiiie 50,000 35,000 (D2) 10,000 ... 95,000
Buildings and Equipment ........... 350,000 230,000 (D3) 45,000 ... 625,000
Accumulated Depreciation ......... (100,000) (50,000) (150,000)
CopyrightS ..c.covviveeiiiieeeee 40,000 10,000 (D4) 15,000 ... 65,000
(€000 111/ SR (D6) 140,000 ... 140,000
Current Liabilities ............c.......... (192,000) (65,000) s e (257,000)
Bonds Payable.........cccccociniiies e, (100,000) e e (100,000)
Discount (Premium)......ccccceeviiiis vevvviieees e e, (D5) 5,000 (5,000)
Common Stock—Sampson........ . ... (50,000) (EL) 50,000 e
Paid-In Capital in Excess of
Par—Sampson......cccccevvviviiiiees vvveeeeen, (70,000) (EL) 70,000
Retained Earnings—Sampson...  ............ (130,000) (EL) 130,000 ...
Common Stock—Adam.............. (100,000)  .eeeeees s (100,000)
Paid-In Capital in Excess of
Par—Adam .........ccocevveviiinenenne (250,000)  cceevveeees e v, (250,000)
Retained Earnings—Adam......... (633,000)  eereeeeee e evieeeee.. (633,000)
TotalS ., 0 0 480,000 480,000 0
Eliminations and Adjustments:
(EL) Eliminate investment in subsidiary against subsidiary equity accounts.
(D) Distribute $225,000 excess of cost over book value to:
(D1) Inventory, $20,000.
(D2) Land, $10,000.
(D3) Buildings and equipment, $45,000.
(D4) Copyrights, $15,000.
(D5) Premium on bonds payable, ($5,000).
(D6) Goodwill, $140,000.
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PROBLEM 2-7
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (809%0) (20%)
Company fair value ..........cccceeeeecveeeceecveee e, $475,000 $380,000 $95,000
Fair value of net assets excluding goodwill ...... 335,000 268,000 67,000
GOOAWIll...coovviiiiiiiiiiiiiiiiiii $140,000 $112,000 $28,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary ............. $475,000 $380,000 $ 95,000
Less book value of interest acquired:
Common stock ($5 par) ......... $ 50,000
Paid-in capital in excess of par 70,000
Retained earnings ................. 130,000
Total equity............cceuvneeee. $250,000 $250,000 $250,000
Interest acquired.................... 80% 20%
Book value.........ccccoeeeeeeeeeeeeenn. $200,000 $ 50,000
Excess of fair value over book
Value....ooooeeeieeieeeeeeeeeeeeeeeeeen $225,000 $180,000 $ 45,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($140,000 fair —
$120,000 book value) ............ $ 20,000 debit D1
Land ($45,000 fair — $35,000
book value).........ccccevvveeeen. 10,000 debit D2
Buildings and equipment
($225,000 fair — $180,000
net book value)...................... 45,000 debit D3
Copyrights ($25,000 fair —
$10,000 book value) .............. 15,000 debit D4
Premium on bonds payable
($105,000 fair — $100,000
book value)..........ccccvvneenl. (5,000) credit D5
GoodWill......cooeveiiiieeiiiiieeeeeiaen, 140,000 debit D6
Total .coovveeiiiiiieeiee e $225,000
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Problem 2-7, Concluded

(2) Adam Company and Subsidiary Sampson Company
Worksheet for Consolidated Balance Sheet
December 31, 20X1

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Adam Sampson Dr. Cr. NCI Sheet
Cash ..o 255,000 40,000 e e e 295,000
Accounts Receivable.............. 70,000 30,000 e e 100,000
INVENLOTY.....vvvveviiiee e 130,000 120,000 (D1) 20,000 e e 270,000
Investment in Sampson.......... 380,000  ...eeeeer e (EL) 200,000  .ccooeeies e,
......................... (D) 180,000
Land.....ccccooveeiiiiiieenieee e 50,000 35,000 (D2) 10,000 @ e e 95,000
Buildings and Equipment........ 350,000 230,000 (D3) 45,000 @ en e 625,000
Accumulated Depreciation ..... (100,000)  (50,000) e e, (150,000)
Copyrights ....ooovevviiiiiiiiieees 40,000 10,000 (D4) 15,000 @ e e 65,000
GOoOAWIll...ccoiiiiiiiiiiiee e e (D6) 140,000 e e 140,000
Current Liabilities.................... (192,000)  (65,000) e e (257,000)
Bonds Payable ..........ccoccciies i (100,000) e e (200,000)
Discount (premium) .....ccccccveeee vvveveeeee e (D5) 5000 ... (5,000)
Common Stock—Sampson....  ............ (50,000) (EL) 40,000 ... (10,000)  ............
Paid-In Capital in Excess of
Par—Sampson........ccccoeceiee cevviiinee (70,000) (EL) 56,000 ... (14,000)  ............
Retained Earnings—Sampson ............ (130,000) (EL) 104,000 (NCI) 45,000 (71,000)  ............
Common Stock—Adam........... (100,000) s e e e, (100,000)
Paid-In Capital in Excess of
Par—Adam.........ccccccevvnnnenn. (250,000)  coccieviees e e e (250,000)
Retained Earnings—Adam..... (633,000)  vceeees e e (633,000)
Noncontrolling Interest ...........  oooeeceeees eeceeeeee s e (95,000) (95,000)
LI ] = L= R 0 0 430,000 430,000 0 0
Eliminations and Adjustments:
(EL) Eliminate investment in subsidiary against 80% of the subsidiary equity accounts.
(D)/(NCI) Distribute $180,000 excess of cost over book value and $45,000 NCI adjustment to:
(D1) Inventory, $20,000.
(D2) Land, $10,000.
(D3) Buildings and equipment, $45,000.
(D4) Copyrights, $15,000.
(D5) Premium on bonds payable, ($5,000).
(D6) Goodwill, $140,000.
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PROBLEM 2-8
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (09%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $410,000 $410,000 N/A
Fair value of net assets excluding goodwill ...... 365,000 365,000
GOOAWIll...eeeieeiiiiiiiiee e $ 45,000 $ 45,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary ............. $410,000 $410,000 N/A
Less book value of interest acquired:
Common stock ($1 par) ......... $ 10,000
Paid-in capital in excess of par 90,000
Retained earnings ................. 60,000
Total equity............cceuvneeee. $160,000 $160,000
Interest acquired.................... 100%
Book value........cc.cccovevnvvnnennnnn. $160,000
Excess of fair value over book
Value......ooooeiiiiiieeee e $250,000 $250,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($55,000 fair —
$50,000 book value) .............. $ 5,000 debit D1
Land ($70,000 fair — $40,000
book value).........ccccevvveeeen. 30,000 debit D2
Building ($250,000 fair —
$150,000 net book value) ...... 100,000 debit D3
Equipment ($60,000 fair —
$40,000 net book value) ........ 20,000 debit D4
Copyright ($50,000 fair —
$0 book value)...........cccuveenne 50,000 debit D5
Goodwill.......eeeiiiieiiiiiiiee 45,000 debit D6
Total ..o $250,000
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Problem 2-8 Concluded

(2) Pantera Company and Subsidiary Sail Company
Worksheet for Consolidated Balance Sheet
January 1, 20X1
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Pantera Sail Dr. Cr. Sheet
Cash ..o 51,000  coeies e e 51,000
Accounts Receivable.............. 65,000 20,000 s 85,000
INVENEOIY .....ovviieiieiiiieecee, 80,000 50,000 (D1) 5000 ... 135,000
Investment in Salil ................... 410,000  .eeeeer e (EL) 160,000 ...
..................................... (D) 250,000
Land.....ccccooveeiiiiiieenieee e 100,000 40,000 (D2) 30,000 ... 170,000
Buildings......ccoovvviveeiiiieee, 250,000 200,000 (D3) 100,000 ... 550,000
Accumulated Depreciation ..... (80,000) (50,000) e e (130,000)
Equipment ........cccoceeeiiiieeene 90,000 60,000 (D4) 20,000 ... 170,000
Accumulated Depreciation ..... (40,000) (20,000) e e (60,000)
CopYNght oo e e (D5) 50,000 ... 50,000
L0 T o 11| TSP (D6) 45,000 ... 45,000
Current Liabilities................... (80,000) (40,000) s e (120,000)
Bonds Payable ....................... (200,000) (100,000) e e (300,000)
Common Stock ($1 par)—
Sall e e, (10,000) (EL) 10,000 e e
Paid-In Capital in Excess of
Par—Sail.....cccoooviiiiiiiiis v, (90,000) (EL) 90,000 e e
Retained Earnings—Sail ........ (60,000) (EL) 60,000  n
Common Stock—Pantera....... (20,000) s e e (20,000)
Paid-In Capital in Excess of
Par—Pantera ..........ccccevvveee (180,000) s e e, (180,000)
Retained Earnings—Pantera.. (446,000) .....cccc... ™ eeeeeeeeeeseveeeeeeee (446,000)
LI - L 0 0 410,000 410,000 e
NONCONLIOIING INTEIEST ..ot inee e eeeasaes
Controlling Retained EarniNgS.........ccoiiiiiieiiiiiee ittt e sbne e e e snnees aseeeienaes
TOtAIS ..o 0
Eliminations and Adjustments:
(EL) Eliminate the investment in the subsidiary against the subsidiary equity accounts.
(D) Distribute $250,000 excess of cost over book value as follows:
(D1) Inventory, $5,000.
(D2) Land, $30,000.
(D3) Buildings, $100,000.
(D4) Equipment, $20,000.
(D5) Copyright, $50,000.
(D6) Goodwill, $45,000.

60



(1)

Ch. 2—Problems

PROBLEM 2-9
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (09%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $ 250,000 $ 250,000 N/A
Fair value of net assets excluding goodwill ...... 365,000 365,000
Gain on acquisition .........cccooeeevvieeiiiiiinee e, $(115,000)  $(115,000)
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Price paid for investment .......... $250,000 $250,000 N/A
Less book value of interest acquired:
Common stock ($1 par) ......... $ 10,000
Paid-in capital in excess of par 90,000
Retained earnings ................. 60,000
Total equity............cceuvneeee. $160,000 $160,000
Interest acquired.................... 100%
Book value........cc.cccovevnvvnnennnnn. $160,000
Excess of fair value over book
Value....ooooeeeieeieeeeeeeeeeeeeeeeeen $ 90,000 $ 90,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($55,000 fair —
$50,000 book value) .............. $ 5,000 debit D1
Land ($70,000 fair —
$40,000 book value) .............. 30,000 debit D2
Building ($250,000 fair —
$150,000 book value) ............ 100,000 debit D3
Equipment ($60,000 fair —
$40,000 book value) .............. 20,000 debit D4
Copyright ($50,000 fair —
$0 book value)...........ccceeeenne 50,000 debit D5
Gain on acquisition
($250,000 — $365,000) .......... (115,000) credit D6
Total....oovoieeiiiiieeeeeeeee, $ 90,000
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Problem 2-9 Concluded

(2) Pantera Company and Subsidiary Sail Company
Worksheet for Consolidated Balance Sheet
January 1, 20X1
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Pantera Sail Dr. Cr. Sheet
Cash ..o 211,000 s e e 211,000
Accounts Receivable.............. 65,000 20,000 s 85,000
INVENEOIY .....ovviieiieiiiieecee, 80,000 50,000 (D1) 5000 ... 135,000
Investment in Salil ................... 250,000 e (EL) 160,000 ...
..................................... (D) 90,000
Land.....ccccooveeiiiiiieenieee e 100,000 40,000 (D2) 30,000 ... 170,000
Buildings......ccoovvviveeiiiieee, 250,000 200,000 (D3) 100,000 ... 550,000
Accumulated Depreciation ..... (80,000) (50,000) e e (130,000)
Equipment ........cccoceeeiiiieeene 90,000 60,000 (D4) 20,000 ... 170,000
Accumulated Depreciation ..... (40,000) (20,000) e e (60,000)
CopYNght oo e e (D5) 50,000 ... 50,000
100 T AT/
Current Liabilities................... (80,000) (40,000) s e (120,000)
Bonds Payable ....................... (200,000) (100,000) e e (300,000)
Common Stock ($1 par)—
Sall e e, (10,000) (EL) 10,000 e e
Paid-In Capital in Excess of
Par—Sail.....cccoooviiiiiiiiis v, (90,000) (EL) 90,000 e e
Retained Earnings—Sail ........  ........... (60,000) (EL) 60,000 e
Common Stock—Pantera....... (20,000) s e e (20,000)
Paid-In Capital in Excess of
Par—Pantera ..........ccccevvveee (180,000) s e e, (180,000)
Retained Earnings—Pantera.. (446,000) ...........  eeerere.. (D6) 115,000 (561,000)
LI - L 0 0 365,000 365,000 @ ...
NONCONLIOIING INTEIEST ..ot inee e eeeasaes
Controlling Retained EarniNgS.........cooiiiiiieiiiiiee ittt e e sbaee e e sniees aieeeienaes
TOtAIS o e, 0
Eliminations and Adjustments:
(EL) Eliminate the investment in the subsidiary against the subsidiary equity accounts.
(D) Distribute $90,000 excess of cost over book value as follows:
(D1) Inventory, $5,000.
(D2) Land, $30,000.
(D3) Buildings, $100,000.
(D4) Equipment, $20,000.
(D5) Copyright, $50,000.
(D6) Gain on acquisition (closed to Pantera’s retained earnings), $115,000.
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(1)

PROBLEM 2-10

Ch. 2—Problems

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (809%0) (20%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $450,000 $360,000 $90,000
Fair value of net assets excluding goodwill ...... 365,000 292,000 73,000
GOOAWIll...eeeieeiiiiiiiiee e $ 85,000 $ 68,000 $17,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary ............. $450,000 $360,000 $ 90,000
Less book value of interest acquired:
Common stock ($1 par) ......... $ 10,000
Paid-in capital in excess of par 90,000
Retained earnings ................. 60,000
Total equity............cceuvneeee. $160,000 $160,000 $160,000
Interest acquired.................... 80% 20%
Book value.........ccccoeeeeeeeeeeeeenn. $128,000 $ 32,000
Excess of fair value over book
Value......ooooeiiiiiieeee e $290,000 $232,000 $ 58,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($55,000 fair —
$50,000 book value) .............. $ 5,000 debit D1
Land ($70,000 fair —
$40,000 book value) .............. 30,000 debit D2
Buildings ($250,000 fair —
$150,000 net book value) ...... 100,000 debit D3
Equipment ($60,000 fair —
$40,000 net book value) ........ 20,000 debit D4
Copyright ($50,000 fair —
$0 book value)...........cccuveenne 50,000 debit D5
GoodWill.......covvvvviiiiiiiiiiiiiiieen, 85,000 debit D6
Total oveeeeeiceee e $290,000
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Ch. 2—Problems

Problem 2-10 Concluded

(2) Pantera Company and Subsidiary Sail Company
Worksheet for Consolidated Balance Sheet
January 1, 20X1

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Pantera Sail Dr. Cr. NCI Sheet
Cash ..o 101,000  vies i i e 101,000
Accounts Receivable.............. 65,000 20,000 s e e, 85,000
INVENLOTY.....vvvveviiiee e 80,000 50,000 (D1) 5000 e, 135,000
Investment in Salil ................... 360,000  ...eeeeer (EL) 128,000  .ccooeies e,
..................................... (D) 232,000
Land.....ccccooveeiiiiiieenieee e 100,000 40,000 (D2) 30,000 e e 170,000
Buildings......ccoovvviveeiiiieee, 250,000 200,000 (D3) 100,000 e e 550,000
Accumulated Depreciation ..... (80,000)  (50,000) s e, (130,000)
Equipment ........cccoceeeiiiieeene 90,000 60,000 (D4) 20,000 @ e e 170,000
Accumulated Depreciation ..... (40,000)  (20,000) e e, (60,000)
CopYNght oo e e (D5) 50,000 e 50,000
L0 T o 11| TSP (D6) 85,000 s e 85,000
Current Liabilities................... (80,000)  (40,000) i e (120,000)
Bonds Payable ....................... (200,000) (100,000) e e e, (300,000)
Common Stock ($1 par)—
Sall e e, (10,000) (EL) 8,000 ... (2,000) ............
Paid-In Capital in Excess of
Par—Sail.....cccoooviiiiiiiiis v, (90,000) (EL) 72,000 ... (18,000) ............
Retained Earnings—Sail ........  ..ccoo...... (60,000) (EL) 48,000 (NCI) 58,000 (70,000)  ............
Common Stock—Pantera....... (20,000) s e e e, (20,000)
Paid-In Capital in Excess of
Par—Pantera ..........ccccevvveee (180,000) s e e e, (180,000)
Retained Earnings—Pantera.. (446,000)  .occccccce.. vvveveeeiees oeeeeieees eeeeeeeeenn (446,000)
LI - L 0 0 418,000 418,000 oo e,
NONCONEFOIING INTEIEST ..ot enneeas (90,000) (90,000)
Controlling REtaiNEd EAININGS. .......uiiiiiieie ittt ettt ettt e et e e s st e e e s st et e e s sbbe e e s sbbeeeans _ebeeessieees
TOtAUS .o 0
Eliminations and Adjustments:
(EL) Eliminate the investment in the subsidiary against the subsidiary equity accounts.
(D)/(NCI) Distribute $232,000 excess and adjust NCI $58,000 (total $290,000 excess) as follows:
(D1) Inventory, $5,000.
(D2) Land, $30,000.
(D3) Buildings, $100,000.
(D4) Equipment, $20,000.
(D5) Copyright, $50,000.
(D6) Goodwill, $85,000.
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(1)

PROBLEM 2-11

Ch. 2—Problems

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (809%0) (20%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $273,000 $200,000 $73,000*%
Fair value of net assets excluding goodwill ...... 365,000 292,000 73,000
Gain on acquisition .........cccooeeevvieeiiiiiinee e, $(92,000) $(92,000) $ 0

*NCI| minimum allowed

Determination and Distribution of Excess Schedule

Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Price paid for investment .......... $273,000 $200,000 $ 73,000
Less book value of interest acquired:
Common stock ($1 par)......... $ 10,000
Paid-in capital in excess of par 90,000
Retained earnings ................. 60,000
Total equity.........cccceeuvnneee. $160,000 $160,000 $160,000
Interest acquired.................... 80% 20%
Book value..........ccceeevivieeeennn, $128,000 $ 32,000
Excess of fair value over book
ValU....ooviieeiiiiiiiiiieeee e, $113,000 $ 72,000 $ 41,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($55,000 fair —
$50,000 book value) .............. $ 5,000 debit D1
Land ($70,000 fair — $40,000
book value).........cccccvvneenl 30,000 debit D2
Buildings ($250,000 fair —
$150,000 net book value) ...... 100,000 debit D3
Equipment ($60,000 fair —
$40,000 net book value) ........ 20,000 debit D4
Copyright ($50,000 fair — $0
book value).........ccccvvveeenn. 50,000 debit D5
Gain on acquisition ................... (92,000) credit D6
Total....oovoieeiiiiieeeeeeeee, $113,000
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Ch. 2—Problems

Problem 2-11 Concluded

(2) Pantera Company and Subsidiary Sail Company
Worksheet for Consolidated Balance Sheet
January 1, 20X1

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Pantera Sail Dr. Cr. NCI Sheet
Cash ..o 261,000 s e e 261,000
Accounts Receivable.............. 65,000 20,000 e e e 85,000
INVENTOTY.....cvvveviiiee e 80,000 50,000 (D1) 5000 e, 135,000
Investment in Salil ................... 200,000 s e (EL) 128,000  .ccooeies e,
..................................... (D) 72,000
Land.....ccccooveeiiiiiieenieee e 100,000 40,000 (D2) 30,000 e e 170,000
Buildings......ccoovvviveeiiiieee, 250,000 200,000 (D3) 100,000 e e 550,000
Accumulated Depreciation ..... (80,000)  (50,000) s e e, (130,000)
Equipment ........cccoceeeiiiieeene 90,000 60,000 (D4) 20,000 @ e e 170,000
Accumulated Depreciation ..... (40,000)  (20,000) e e, (60,000)
CopYNght oo e e (D5) 50,000 e 50,000
L0070 111
Current Liabilities................... (80,000)  (40,000) i e (120,000)
Bonds Payable ....................... (200,000) (100,000) e e e, (300,000)
Common Stock ($1 par)—
Sall e e, (10,000) (EL) 8,000 ... (2,000) ............
Paid-In Capital in Excess of
Par—Sail.....cccoooviiiiiiiiis v, (90,000) (EL) 72,000 ... (18,000) ............
Retained Earnings—Sail ........ (60,000) (EL) 48,000 (NCI) 41,000 (53,000)  ............
Common Stock—Pantera....... (20,000) s e e e, (20,000)
Paid-In Capital in Excess of
Par—Pantera ..........ccccevvveee (180,000) s e e e, (180,000)
Retained Earnings—Pantera.. (446,000) ...........  eeerere.. (D6) 92,000  ............ (538,000)
LI - L 0 0 333,000 333,000 e e,
NONCONEFOHING INTEIEST ..ot as (73,000) (73.000)
Controlling REtaiNEd EAININGS. .......uiiiiiieie ittt ettt ettt e et e e s st e e e s st et e e s sbbe e e s sbbeeeans _ebeeessieees
TOtAUS .o 0
Eliminations and Adjustments:
(EL) Eliminate the investment in the subsidiary against the subsidiary equity accounts.
(D)/(NCI) Distribute $72,000 excess and adjust NCI $41,000 (total $113,000 excess) as follows:
(D1) Inventory, $5,000.
(D2) Land, $30,000.
(D3) Buildings, $100,000.
(D4) Equipment, $20,000.
(D5) Copyright, $50,000.
(D6) Gain on acquisition (closed to Pantera’s retained earnings), $92,000.
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(1)

PROBLEM 2-12

Ch. 2—Problems

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (09%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $1,100,000 $1,100,000 N/A
Fair value of net assets excluding goodwill ...... 850,000 850,000
GOOAWIll...coovviiiiiiiiiiiiiiiiiii $ 250,000 $ 250,000
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Fair value of subsidiary ............. $1,100,000 $1,100,000 N/A
Less book value interest acquired:
Common stock ($1 par) ......... $ 10,000
Paid-in capital in excess of par 190,000
Retained earnings ................. 140,000
Total equity............cceuvneeee. $ 340,000 $ 340,000
Interest acquired.................... 100%
Book value.........ccccoooeevvvieinnnnnnn. 340,000
Excess of fair value over book
ValUB....oooo i $ 760,000 $ 760,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$120,000 book value) ............ $(20,000) credit D1
Land ($200,000 fair — $100,000
book value).........ccccevvveeeen. 100,000 debit D2
Buildings ($400,000 fair —
$200,000 net book value) ...... 200,000 debit D3
Equipment ($200,000 fair —
$90,000 net book value) ........ 110,000 debit D4
Patent ($150,000 fair —
$10,000 book value) .............. 140,000 debit D5
Computer software ($50,000
fair — $0 book value) .............. 50,000 debit D6
Premium on bonds payable
($210,000 fair — $200,000
book value)..........ccccceiiiii (10,000) credit D7
Goodwill ($250,000 fair —
$60,000 book value) .............. 190,000 debit D8
Total .coovveeiiiiiieeiiee e $760,000
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Ch. 2—Problems

Problem 2-12 Concluded

(2) Purnell Corporation and Subsidiary Sentinel Corporation
Worksheet for Consolidated Balance Sheet
December 31, 20X1

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Purnell Sentinel Dr. Cr. Sheet
Cash....ocoveeiiiie e, 20,000 s e e 20,000
Accounts Receivable........... 300,000 50,000 s 350,000
Inventory........ccccceeeeeeeeeenn. 410,000 120,000 ..l (D1) 20,000 510,000
Investment in Sentinel......... 1,100,000  ..ccoooeee e, (EL) 340,000 ..
..................................... (D) 760,000
Land.....cccccovveieiiiiiee e 800,000 100,000 (D2) 100,000 ... 1,000,000
Buildings......cccooovvveeeiiiienne 2,800,000 300,000 (D3) 200,000 ... 3,300,000
Accumulated Depreciation..  (500,000) (100,000)  .ceeieees e (600,000)
Equipment .........ccoceeeiiiieenne 600,000 140,000 (D4) 110,000 ... 850,000
Accumulated Depreciation..  (230,000) (50,000) ...h (280,000)
Patent ....coovvvveiiii e 10,000 (D5) 140,000 ... 150,000
Computer SOftware ......cceee. vvvvvceviee e (b6) 50,000 ... 50,000
GoodWill.....covvieeeiiiiec i e, 60,000 (D8) 190,000 ........... 250,000
Current Liabilities................. (150,000)  (90,000) e e (240,000)
Bonds Payable .................... (300,000) (200,000) e e (500,000)
Premium on Bonds Payable ... ... (D7) 10,000 (10,000)
Common Stock—Sentinel...  ............ (10,000) (EL) 10,000 e e
Paid-In Capital in Excess of
Par—Sentinel......ccccccveeees e, (190,000) (EL) 190,000 .veeees e
Retained Earnings—Sentinel  ............ (140,000) (EL) 140,000 s e,
Common Stock—Purnell...... (95,000)  ciiiiees e e (95,000)
Paid-In Capital in Excess of
Par—Purnell..................... (3,655,000)  cevieiees e e (3,655,000)
Retained earnings—Purnell  (1,100,000)  ....cooooe. vvciieennn eeeiieeee.. (1,100,000)
TotalS....oeeevieeeecieeee e 0 0 1,130,000 1,130,000 = e
L P PUUUUUN
01> PSSR 0
Eliminations and Adjustments:
(EL) Eliminate parent ownership interest.
(D) Distribute excess.
Distribute adjustments:
(D1) Inventory.
(D2) Land.
(D3) Buildings.
(D4) Equipment.
(D5) Patent.
(D6) Computer software.
(D8) Goodwill.
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(1)

PROBLEM 2-13

Ch. 2—Problems

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (100%) (0%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $800,000 $800,000 N/A
Fair value of net assets excluding goodwill ...... 850,000 850,000
Gain on acquisition .........cccooeeevvieeiiiiiinee e, $(50,000) $(50,000)
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (100%) (0%)
Price paid for investment .......... $800,000 $800,000 N/A
Less book value interest acquired:
Common stock ($1 par) ......... $ 10,000
Paid-in capital in excess of par 190,000
Retained earnings ................. 140,000
Total equity............cceuvueeee. $340,000 $340,000
Interest acquired............cc..uee... 100%
Book value........cc.ccoovevvvnnennnnn. $340,000
Excess of fair value over book
Value....ooooeeeieiieeeeeeeeeeeeeeeee, $460,000 $460,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$120,000 book value) ............ $(20,000) credit D1
Land ($200,000 fair —
$100,000 book value) ............ 100,000 debit D2
Buildings ($400,000 fair —
$200,000 net book value) ...... 200,000 debit D3
Equipment ($200,000 fair —
$90,000 net book value) ........ 110,000 debit D4
Patent ($150,000 fair — $10,000
book value).........cccccvvneenl. 140,000 debit D5
Computer software ($50,000
fair — $0 book value) .............. 50,000 debit D6
Premium on bonds payable
($210,000 fair — $200.000
book value)...........eevvviiiiinnnns (10,000) credit D7
Goodwill ($0 fair — $60,000
book value)..........ccccceiiiii (60,000) credit D8
Gain on acquisition ................... (50,000) credit D9
LI = | $460,000
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Ch. 2—Problems

Problem 2-13 Concluded

(2) Purnell Corporation and Subsidiary Sentinel Corporation
Worksheet for Consolidated Balance Sheet
December 31, 20X1

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Purnell Sentinel Dr. Cr. Sheet
Cash....ocoveeiiiie e, 20,000 s e e 20,000
Accounts Receivable........... 300,000 50,000 s 350,000
Inventory........ccccceeeeeeeeeenn. 410,000 120,000 ..l (D1) 20,000 510,000
Investment in Sentinel......... 800,000  ...cceeeees e (EL) 340,000 .
..................................... (D) 460,000
Land.....cccccovveieiiiiiee e 800,000 100,000 (D2) 100,000 ... 1,000,000
Buildings......cccooovvveeeiiiienne 2,800,000 300,000 (D3) 200,000 ... 3,300,000
Accumulated Depreciation..  (500,000) (100,000) .ceiiiiees e, (600,000)
Equipment .........ccoceeeiiiieenne 600,000 140,000 (D4) 110,000 ... 850,000
Accumulated Depreciation..  (230,000) (50,000) ...h (280,000)
Patent ....coovvvveiiii e 10,000 (D5) 140,000 ... 150,000
Computer SOftware ......cceee. vvvvvceviee e (b6) 50,000 ... 50,000
GoodWill.....covvieeeiiiiec i e, 60,000 ... (D8) 60,000 ...
Current Liabilities................. (150,000)  (90,000) e e (240,000)
Bonds Payable ................... (300,000) (200,000) e e (500,000)
Premium on Bonds Payable ... ... (D7) 10,000 (10,000)
Common Stock—Sentinel...  ............ (10,000) (EL) 10,000 e e
Paid-In Capital in Excess of
Par—Sentinel......ccccccveeees e, (190,000) (EL) 190,000 .veeees e
Retained Earnings—Sentinel  ............ (140,000) (EL) 140,000 s e,
Common Stock—Purnell...... (89,000) s e e (89,000)
Paid-In Capital in Excess of
Par—Purnell..................... (3,361,000)  coevvciees e e (3,361,000)
Retained Earnings—Purnell (1,100,000)  .ccccccee.. svvrrer... (D9) _50,000 (1,150,000)
TotalS....oeeevieeeecieeee e 0 0 940,000 940,000 ..
L P PUUUUUN
01> PSSR 0
Eliminations and Adjustments:
(EL) Eliminate parent ownership interest.
(D) Distribute excess.
Distribute adjustments:
(D1) Inventory.
(D2) Land.
(D3) Buildings.
(D4) Equipment.
(D5) Patent.
(D6) Computer software.
(D8) Goodwill.
(D9) Acquisition gain closed to parent Retained Earnings.
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(1)

PROBLEM 2-14

Ch. 2—Problems

Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (809%0) (20%)
Company fair value ..........cccceeeeeeveeeeeecveee e, $1,187,500 $950,000 $237,500
Fair value of net assets excluding goodwill ...... 850,000 680,000 170,000
GOOAWIll...eeeieeiiiiiiiiee e $ 337,500 $270,000 $ 67,500
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Fair value of subsidiary ............. $1,187,500 $950,000 $237,500
Less book value interest acquired:
Common stock ($1 par) ......... $ 10,000
Paid-in capital in excess of par 190,000
Retained earnings ................. 140,000
Total equity............cceuvneeee. $ 340,000 $340,000 $340,000
Interest acquired.................... 80% 20%
Book value.........ccccoeeeeeeeeeeeeenn. $272,000 $ 68,000
Excess of fair value over book
Value......ooooeiiiiiieeee e $ 847,500 $678,000 $169,500
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$120,000 book value) ............ $(20,000) credit D1
Land ($200,000 fair —
$100,000 book value) ............ 100,000 debit D2
Buildings ($400,000 fair —
$200,000 net book value) ...... 200,000 debit D3
Equipment ($200,000 fair —
$90,000 net book value) ........ 110,000 debit D4
Patent ($150,000 fair —
$10,000 book value) .............. 140,000 debit D5
Computer software ($50,000
fair — $0 book value) .............. 50,000 debit D6
Premium on bonds payable
($210,000 fair — $200,000
book value)..........ccccceiiiii (10,000) credit D7
Goodwill ($337,500 fair —
$60,000 book value) .............. 277,500 debit D8
Total....oovoieeiiiiieeeeeeeee, $847,500
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Ch. 2—Problems

Problem 2-14 Concluded

(2) Purnell Corporation and Subsidiary Sentinel Corporation
Worksheet for Consolidated Balance Sheet
December 31, 20X1

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Purnell Sentinel Dr. Cr. NCI Sheet
Cash....ocoveeiiiie e, 20,000 s e e e 20,000
Accounts Receivable........... 300,000 50,000 s e e 350,000
10177210100 ] oY 2 410,000 120,000 (D1) 20,000 ............ 510,000
Investment in Sentinel......... 950,000  .eeeeees (EL) 272,000  .cooiiies e,
..................................... (D) 678,000
Land.....cccccovveieiiiiiee e 800,000 100,000 (D2) 100,000 e e 1,000,000
Buildings......cccooovvveeeiiiienne 2,800,000 300,000 (D3) 200,000 e e 3,300,000
Accumulated Depreciation..  (500,000) (100,000) ... s (600,000)
Equipment .........ccoceeeiiiieenne 600,000 140,000 (D4) 110,000 e e 850,000
Accumulated Depreciation..  (230,000) (50,000) ... L (280,000)
Patent ....coovvvveiiii e 10,000 (D5) 140,000 e e 150,000
Computer SOftware ......cceee. vvvvvceviee e (D6) 50,000 s e 50,000
GoodWill.....covvieeeiiiiec i e, 60,000 (D8) 277,500 = s e 337,500
Current Liabilities................. (150,000)  (90,000) s e e (240,000)
Bonds Payable ................... (300,000) (200,000) e e e (500,000)
Premium on Bonds Payable ... ... (D7) 10,000  ........... (10,000)
Common Stock—Sentinel...  ............ (10,000) (EL) 8,000 ... (2,000) ...
Paid-In Capital in Excess of
Par—Sentinel......ccccccveeees. e (190,000) (EL) 152,000 .......... (38,000) ............
Retained earnings—Sentinel  ............ (140,000) (EL) 112,000 (NCI) 169,500 (197,500) ............
Common Stock—Purnell...... (92,000) et e e, (92,000)
Paid-In Capital in Excess of
Par—Purnell..................... (3,508,000)  ieeviiiees e e (3,508,000)
Retained Earnings—Purnell (1,100,000)  .......cc...  _ecevieeeees eeeiieeeeees aeeeeeeeens (1,100,000)
TotalS......ooovvvviiiiiiiiiiieee, 0 0 1,149,500 1,149500  .eiee e,
N SRRSO (237,500) _(237,500)
0= S SSP 0
Eliminations:
(EL) Eliminate parent ownership interest.
(D) Distribute excess.
(NCI) Adjust NCI to fair value (credit subsidiary retained earnings).
Distribute adjustments:
(D1) Inventory.
(D2) Land.
(D3) Buildings.
(D4) Equipment.
(D5) Patent.
(D6) Computer software.
(D8) Goodwiill.
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Ch. 2—Problems

PROBLEM 2-15

D Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (80%) (20%)
Company fair value........cccccccvvvvviviiiiiiiiiiinenn, $ 670,000 $ 500,000 $170,000*
Fair value of net assets excluding goodwill ...... 850,000 680,000 170,000
Gain 0N aCqUISITION ......cevvvvviiiiiiiiiiieieiieeeeeeeeeee $(180,000)  $(180,000) $ 0
*Must at least be equal to fair value of net assets
Determination and Distribution of Excess Schedule
Company Parent NCI
Implied Price Value
Fair Value (80%) (20%)
Price paid for investment .......... $670,000 $500,000 $170,000
Less book value interest acquired:
Common stock ($1 par)......... $ 10,000
Paid-in capital in excess of par 190,000
Retained earnings ................. 140,000
Total equity.......ccvvvvvvvvnnnnns $340,000 $340,000 $340,000
Interest acquired.................... 80% 20%
Book value..........ccceeevivineeennne, $272,000 $ 68,000
Excess of fair value over book
value.........ccoeeeeviiee $330,000 $228,000 $102,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Inventory ($100,000 fair —
$120,000 book value) ............ $ (20,000) credit D1
Land ($200,000 fair —
$100,000 book value) ............ 100,000 debit D2
Buildings ($400,000 fair —
$200,000 net book value) ...... 200,000 debit D3
Equipment ($200,000 fair —
$90,000 net book value) ........ 110,000 debit D4
Patent ($150,000 fair — $10,000
book value).........ccccevvveeen. 140,000 debit D5
Computer software ($50,000
fair — $0 book value) .............. 50,000 debit D6
Premium on bonds payable
($210,000 fair — $200,000
book value)..........ccccceiiiin (10,000) credit D7
Goodwill ($0 fair — $60,000
book value)...........eevvviiiiinnnns (60,000) credit D8
Gain on acquisition ................... (180,000) credit D9
Total ..o $ 330,000
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Problem 2-15 Concluded

(2) Purnell Corporation and Subsidiary Sentinel Corporation
Worksheet for Consolidated Balance Sheet
December 31, 20X1
Eliminations Consolidated
Balance Sheet and Adjustments Balance
Purnell Sentinel Dr. Cr. NCI Sheet
Cash....ocoveeiiiie e, 20,000 s e e e 20,000
Accounts Receivable........... 300,000 50,000 s e e 350,000
10177210100 ] oY 2 410,000 120,000 ... (D1) 20,000 ........... 510,000
Investment in Sentinel......... 500,000  .eeee (EL) 272,000  .cooiiies e,
..................................... (D) 228,000
Land.....cccccovveieiiiiiee e 800,000 100,000 (D2) 100,000 e e 1,000,000
Buildings......cccooovvveeeiiiienne 2,800,000 300,000 (D3) 200,000 e e 3,300,000
Accumulated Depreciation..  (500,000) (100,000) ... s (600,000)
Equipment .........ccoceeeiiiieenne 600,000 140,000 (D4) 110,000 e e 850,000
Accumulated Depreciation..  (230,000) (50,000) ... (280,000)
Patent ....coovvvveiiii e 10,000 (D5) 140,000 e e 150,000
Computer SOftware ......cceee. vvvvvceviee e (D6) 50,000 s e 50,000
GoodWill.....covvieeeiiiiec i e, 60,000 ... (D8) 60,000  ..coeees e,
Current Liabilities................. (150,000)  (90,000) s e e (240,000)
Bonds Payable ................... (300,000) (200,000) s e e (500,000)
Premium on Bonds Payable ... ... (D7) 10,000  ........... (10,000)
Common Stock—Sentinel...  ............ (10,000) (EL) 8,000 ... (2,000) ...
Paid-In Capital in Excess of
Par—Sentinel......ccccccveeees. e (190,000) (EL) 152,000 .......... (38,000) ............
Retained Earnings—Sentinel  ............ (140,000) (EL) 112,000 (NCI) 102,000 (130,000) ............
Common Stock—Purnell...... (83,000) s e e, (83,000)
Paid-In Capital in Excess of
Par—Purnell..................... (3,067,000)  oeeviiiees e e (3,067,000)
Retained Earnings—Purnell (1,100,000)  ....c.oo.. e (D9) 180,000  ............ (1,280,000)
TotalS....oeeevieeeecieeee e 0 0 872,000 872,000  vvieere e,
N SRRSO (170,000) _(170,000)
0= S SSP 0
Eliminations:
(EL) Eliminate parent ownership interest.
(D) Distribute excess.
(NCI) Adjust NCI to fair value (credit subsidiary retained earnings).
Distribute adjustments:
(D1) Inventory.
(D2) Land.
(D3) Buildings.
(D4) Equipment.
(D5) Patent.
(D6) Computer software.
(D8) Goodwiill.
(D9) Acquisition gain closed to parent Retained Earnings.
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APPENDIX PROBLEM

PROBLEM 2A-1

(1) Traded
Company Parent NCI
Implied Price Value
Value Analysis Schedule Fair Value (60%)° (40%)°¢
Company fair value ..........cccceeeeecveeeceeciveee e, $240,0002 $144,000 $96,000
Fair value of net assets excluding goodwill ...... 235,000 141,000 94,000
L€ ToTo 0 1111 P $ 5,000 $ 3,000 $ 2,000

Gain on acquisition

aValues are prior to acquisition (4,000 shares x $60 market value).

bSubsequent to acquisition, Untraded Company is the “parent” with 60% ownership; prior to
acquisition, Untraded Company has 0% ownership of Traded Company.

Prior to acquisition, this represents 100% ownership of Traded Company; subsequent to
acquisition, these holders of 4,000 shares of Traded Company become the 40% NCI.

Determination and Distribution of Excess Schedule

Traded
Company Parent NCI
Implied Price Value
Fair Value (60%) (40%)
Fair value of subsidiary ............. $240,000 $144,000 $ 96,000
Less book value of interest acquired:
Common stock ($1 par) ......... $ 4,000
Paid-in capital in excess of par 96,000
Retained earnings ................. 15,000
Total equity...........ccccuuneeee. $115,000 $115,000 $115,000
Interest acquired.................... 60% 40%
Book value.........cccceeeeeeuvieecennnne, $ 69,000 $ 46,000
Excess of fair value over book
Value....ooooeeeeeieeeeeeeeeeeeeeeeee, $125,000 $ 75,000 $ 50,000
Adjustment of identifiable accounts:
Worksheet
Adjustment Key
Building ($200,000 fair —
$100,000 book value) ............ $100,000 debit D1
Equipment ($40,000 fair —
$20,000 book value) .............. 20,000 debit D2
Goodwill........eeeviiieiiiiiiie 5,000 debit D3
LI €= | $125,000
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Problem 2A-1 Concluded

Reverse Acquisition
Traded Company and Subsidiary Untraded Company

Eliminations Consolidated
Balance Sheet and Adjustments Balance
Untraded  Traded Dr. Cr. NCI Sheet
Current assets......cccoeeeeeveeeneen 10,000 5000 s e s 15,000
Investment in Untraded
Company......cccceeeevivieeennnnn 144,000 . EL 69,000 ..ccooees e
......................... D 75,000
Building.......cccoevvvviveeiiiieeee 150,000 100,000 D1 100,000 e e 350,000
Equipment .........ccoceeeviiineenee 100,000 20,000 D2 20,000 e 140,000
GOOAWIll...eviiiiiiiiiiiiiiiee e e D3 5000 e, 5,000
Long term liabilities................. (5,000)  (10,000) s e e (15,000)
Common stock—Untraded...... (5,000) ..o, adj 5,000 s e e,
Paid-in excess—Untraded...... (115,000)  ............ adj 115,000 = e e,
Retained earnings—Untraded (135,000)  ....cccccce.  iiiees e e (135,000)
Common stock—Traded ........  ............ (10,000) EL 2400 e (7,600)  ............
(4,000 + 6,000)
Continuing equity of
Traded COMPANY ....occccvvevies v e e adj 6,000 ............ (6,000)
Paid-in excess—Traded.........  ............ (234,000) EL 57,600 ... (176,400)
(96,000 + 144,000 - 6,000)
Continuing equity of
Traded COMPANY ....occccvvevies e e e adj 114,000  ........... (114,000)
Retained earnings—Traded ... _............ (15,000) EL 9,000 NCI _50,000 (56,000)  ............
TotalS...ooeeiviieee e 0 0 314,000 314,000  vieere e,
N PSP (240,000) (240,000)
TOtAUS .o 0
Eliminations and Adjustments:
EL Eliminate investment account and entries to Traded equity made to record the acquisition.
D/NCI Distribute fair market value adjustment and NCI adjustment.
D1 Increase building $100,000.
D2 Increase equipment $20,000.
D2 Record goodwiill.
adj Assign Untraded Company equity to paid-in capital of Traded Company
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CASE
CASE 2-1
(1) Evaluation of price—Fair value of Al's Hardware:
Cash ., $180,000
ACCOUNES reCEIVADIE ... 350,000
[ NY7=T 0 (] o 600,000
2= o o R 100,000
2071 o 1T R 300,000
EQUIPMENT......cce i 100,000
Current liabilities ...........ccco (425,000)
(o] g (e T=Te PP (600,000)
I 1S | R (300,000)

(2)

$305,000 x 60% = $183,000

Value GIVEN ..o 7,500 x $40 = $300,000

This purchase would not be a bargain, because comparing the fair values (including the lawsuit)
to the price would result in goodwill of $117,000 ($300,000 — $183,000).

Note: This analysis could also be done for only 60% interest in the form of the D&D schedule with
the same result.

Accounting methods:

(@)

(b)

(€)
(d)

GAAP would require that many of the adjustments to recognize fair values must be made
directly on Al's books before consolidation:

Adjust accounts receivable to net realizable value.

Decrease inventory to fair value.

Record estimated liability from lawsuit.

There are no major differences between fair and book values of the long-lived assets. Nor-
mally, they would not be adjusted to fair value, but this could be done under quasi-
reorganization or push-down accounting. The recommendation would be that they be ad-
justed to fair value to improve future reporting. Noncontrolling interest would have to agree to
it as well.

Goodwill should be written off because there is no reason to think it exists.

Al's Hardware is a likely candidate for quasi-reorganization, because this procedure adjusts
all assets to fair values and decreases Paid-In Capital in Excess of Par to provide the
amount needed to cover the negative balance in Retained Earnings.

Summary: Accounts Receivable, Inventory, Estimated Liability, and Goodwill should be adjusted

on

the subsidiary’s books. The adjustments of long-lived assets could be done on the subsidiary’s

books under push-down accounting. If the long-lived assets are not adjusted on the subsidiary
books, the adjustment relative to the controlling interest would be made in the consolidation pro-
cess.
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